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public class NetworkSet{
final public Node root = new Node(),

public NetworkSet(Object value){
root.parent = root;
root.value = value;

}

public static class Node{
public Node parent;
public Object value;

}
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public class UnionFindSame{
Map<Object, Node> nodes = ...;

public void union(Object a, Object b){
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Map<Object, Node> nodes = ...;

public void union(Object a, Object b){
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public class BDEQueue {

-}

Runnable[] tasks ;
volatile int bottom,
AtomicStampedReference<Integer> top;

public BDEQueue(int capacity) {
tasks = new Runnable[capacity];
top = new AtomicStampedReference<Integer>(0, 0);
bottom = 0;

}

public void pushBottom(Runnable r){
tasks [bottom] =1,
bottom+-+;

}

// called by thieves to determine whether to try to steal
boolean isEmpty() {

return ( top.getReference() < bottom);
}



1. public Runnable popTop() {

2 int [] stamp = new int[1];

3 int oldTop = top.get(stamp), newTop = oldTop + 1;

4.  int oldStamp = stamp[0], newStamp = oldStamp + 1;

5.  if (bottom <= oldTop)

6 return null ;

7 Runnable r = tasks[oldTop];

8.  if (top.compareAndSet(oldTop, newTop, oldStamp, newStamp))
9, returnr

10. returnnull ;
11. }
2.

13. Runnable popBottom() {

14, if (bottom == 0)

15. return null ;

16.  bottom--;

17.  Runnable r = tasks{bottom];

18.  int[] stamp = new int[1];

19.  int oldTop = top.get(stamp), newTop = 0;

20.  int oldStamp = stamp[0], newStamp = oldStamp + 1;
21.  if (bottom > oldTop)

22, returnr;

23.  if (bottom == oldTop) {

24. bottom = 0;

25. if (top.compareAndSet(oldTop, newTop, oldStamp, newStamp))
26. returnr ;

27.  }

28.  top. set (newTop,newStamp};
29, bottom = 0;

30. returnnull;

31. }



